(4) FHEFJEULE—E [£5T])
. Lt ER=R24F e/ T ER=314F & SERMDHE (LI0FE
I - -
HE 2| 2 " =
F# m i ] BInEE F & | BRE HEE
¥ % (F) (a) (M) (M) (F) (kg) (M)
th R R 700 19,617.9 818, 020, 000 19,746,899 — — —
783 22, 205. 7 917, 560, 000 15, 878, 507 338| 604, 305| 129, 994, 000
_ 12 124.5 3, 810, 000 73,663 — — —
Eeiete = 13 135. 0 3. 680, 000 72. 065 2 1,073 190, 200
SR 20 553. 8 22, 690, 000 426,668 — — —
A 23 643. 1 28, 800, 000 417, 835 9 15,794| 4,553, 200
P 732 20, 296. 2 844, 520, 000 20,247,230 — — —
= B 819 22,983.8 950, 040, 000 16, 368, 407 349| 621, 172 134, 737, 400
5% . - - o H30
= 189| 265, 781| 44, 846, 800
SEIELE 89. 4% 88. 3% 88. 9% 123. 7% 184. 7% 233. 7% 300. 4%
(4)—a FHEFZHIBE—ME [SES] .
_ LER-R2FE/ FE=31FE SEMDWEL0FE
i —
HE 3| 5 " =
F & m & HESEE g F & | BIRE HEE
¥ % (F) (a) (M) (M) () (kg) (M)
th R R 443 13, 028. 8 589, 760, 000 13,776, 161] — — —
496 15, 006. 0 675, 030, 000 9, 269, 932 208| 349, 650 82,930, 600
_ 7 77.5 2, 460, 000 39,174 — — —
j b b )
EeCa 8 87.0 2,270, 000 23, 740 1 543 130, 000
U 19 535. 8 22, 430, 000 418,752 — — —
AL a3 pR 22 625. 1 28, 510, 000 410, 730 8 13,797| 4, 350, 200
P 469 13, 642. 1 614, 650, 000 14,234,087 — — —
= A 526 15, 718. 1 705, 810, 000 9, 704, 402 217|  363,990| 87,410, 800
H30
5 — _ _ _
il 131] 192, 366] 37,553, 000
SR LE 89. 2% 86. 8% 87. 1% 146. 7%| 165. 6% 189. 2% 232. 8%




(4)—b  FABRARBE—H [41) -
_ FER-R2FE/ FEH=314FE SERMDEE (F0FE
T - .
AE 2| % e =
F # m #& HEEEE R F & | BIRE HEE
kS (F) (a) (H) (M) (F) (kg) (M)
S 170 5,027, 1 192, 770, 000 4,408,864 — — —
193 5.511. 2 201, 960, 000 4, 451, 265 102|  221,536| 42,514, 200
) 4 35. 0 1,150, 000 20,802 — — —
j . 5 5 >
M7 NITAZRR 4 36. 0 1,190, 000 95. 665 | 530 60, 200
. 0 0.0 0 ol — — —
AL AR SR 0 0.0 0 0 0 0 0
- = 174 5,062. 1 193, 920, 000 4,429, 666| — — —
5 & 197 5. 547. 2 203. 150, 000 4. 476, 930 103|222, 066| 42,574, 400
5= _ — — — T30
> 24|  27,187] 3,305,400
XA LE 88. 3% 91. 3% 95. 5% 98.9%| 429.2%|  816.8% 1288. 0%
(€4)—c FHEZJBpWNLE—K [T71 1)
_ L ER-R2EE/ TBR=31FE SERDBE L0FE
i - =
AE 2| =3 %& =
Fa | ® W #FERIE mge | s | mme | zxe
X4 (F) (a) (M) (M) (F) (kg) (M)
_ 39 539. 0 12, 540, 000 845,333 — — —
R 44 646. 5 15, 650, 000 1, 546, 770 17| 17,228 3,062, 500
] 1 12.0 200, 000 13,687 — — —
j . ) )
M7 NI AXE 1 12.0 220. 000 22. 660 0 0 0
. 0 0.0 0 ol — — —
AL AR SRR 0 0.0 0 0 0 0 0
- = 40 551. 0 12, 740, 000 859,020 — — —
= & 45 658. 5 15, 870, 000 1,569, 430 17| 17,228 3,062, 500
sz _ — — — T30
= 3 2,936 576, 200
gt | 88 o 83. 7% 80. 3% 54. 7% 566.7%|  586. 8% 531. 5%




(€4)—d

F AR BN

BRE—M [hE]

_ FER-R2FE/ FEH=314FE SERMDEE (F0FE
I - —
AE 2| % e =
F # [T HiExL%E g F & | BIRE HiEE
X (F) (a) (M) (M) () (kg) (M)
_ 48 1,023.0 22,950, 000 716,541 — — —
R 50 1,042.0 24, 920, 000 610, 540 11 15,891| 1, 486, 700
e 1 18.0 260, 000 7,916] — — —
AL AR SR 1 18.0 290, 000 7,105 1 1,997 203, 000
o 49 1,041.0 23, 210, 000 724,457 — — —
= A 51 1, 060. 0 25, 210, 000 617, 645 12 17,888| 1,689, 700
5% 7 - o H30
= 31 43,292| 3,412,200
XA 96. 1% 98. 2% 92. 1% 117.3%  38.7% 41. 3% 49, 5%




